SAT PREP
Assignment : AP CALCULUS BC TEST (Antidifferentiation)
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2. A particle moves along a line with acceleration 2 + 67 at time 7. When 7 = 0, its

velocity equals 3 and it is at position s =2. When 7 = 1, it is at position s =
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6. Find the acceleration (in ft/sec’) needed to bring a particle moving with a velocity
of 75 ft/sec to a stop in 5 sec.

(A) 3 (B) 6 (C) -15 (D) 25 (E) =30

7. The equation of the curve whose slope at point (x, y) is x> — 2 and which contains
the point (1, -3) is
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(A) In(x*+2x+2)+C (B) Inlx+11+C (C) arctan(x+ 1)+ C
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